
EXERCISE # 1 

A
Q.1  

? 
 

Q.2  

Q.3  
? 

Q.4  

Q.5  

Q.6  45° 

Q.7  2
? 

Q.8  

? 

Q.9  
? 

Q.10 

Q.11 

 
 B. 

Q.12 
 
Q.13 P, Q  R 

 35°, 25°,15° 
? 

Q.14 
 

Q.15 

 
Q.16 

 ? 
 
Q.17 (Sun glasses) 
 

Q.18 

? 

 

Q.19  (a), (b)  (c) 
1  2

1 
2 

1 

(a)

1 
2 

1 

(b)

1 
2 

1 

(c)



 Edubull

Q.20 

? 
Q.21 

? 
 
Q.22 

 ? 

C. 
Q.23 (a) 

(b) 

Q.24 (i) (ii) 

Q.25 
 
Q.26 ? 
 

Q.27 
 

Q.28 ? 
? 

 D. 
Q.29 3 × 108 m/s 

, 
1.5 

Q.30 4/3 

Q.31 3/2 
? 

Q.32 
45° 

, 
3/2 

Q.33 3

30° , 
Q.34 50 cm 
Q.35 

12 cm 
18 cm 

 Q.36 20 cm 
20 cm , 

 Q.37 
20 cm 

 Q.38 12 cm 
16 cm 2 cm 

, 
 

Q.39 20 cm 
12.5 cm 

 Q.40 +3.5D –2.5D 

 Q.41 15 cm 
40 cm 

 

Q.42 10° 
 



Liquid 
µ = 4.1

10°

µ = 1.2 µ = 2 µ = 2 3  µ = 4
Liquid 
µ = 4.1 

EXERCISE # 2


Q.1 
, 

(A) 
(B) , 

(C) , 

(D) , 

 

Q.2 X Y , 
 X 

 Y  - 
(A)  (1 – cos ) (B) /cos  
(C) cos  (D) /sin  

 

Q.3 
r1 r2 , 

,  - 
(A) r1 > r2 (B) r1 = r2  
(C) r1 < r2 (D) r1 = 1/r2 

 

Q.4 
- 

(A) 

(B) 

(C) 
(D) 

Q.5 2
3 , 

 - 
(A) 4

3  (B) 3
2  (C) 3

1  (D) 3

Q.6 1.5 
3
4

? 
(A) 1 (B) 1.5 
(C) 1.125 (D) –10 

Q.7  - 
(A) 
(B) 
(C) 
(D) 

Q.8 3
4 , 

 - 
(A) 4 × 3 (B) 4

3  (C) 3
4  (D) 4

3



Q.9 

- 
(A) 180° (B) 90° (C) 45° (D) 0° 

Q.10 ? 
(A) 

(B) 

(C) 

(D) 
Q.11 3.0 × 108 m/s 

4/3 , 
 - 

(A) 2.25 × 108 m/s (B) 3 × 108 m/s 
(C) 4 × 108 m/s (D) 4.33 × 108 m/s 

Q.12 2m 
 (  = 1.33) - 

(A) 2.66 m (B) 2 m 
(C) 2.34 (D) 2.54 m 

Q.13 

 - 
(A) F   
(B) 2F  
(C) F  2F  
(D) 2F ,  F 

Q.14 
–10 cm  - 
(A) 
(B) 
(C) 
(D) 

Q.15 50 cm  - 
(A) D2

1  (B) 2D (C) 3D (D) 0.2 D

Q.16 –2.0 D  - 
(A) –2.0 m (B) 0.2 m 
(C) –0.5 m (D) 0.5 m 

Q.17 + 5D  –5D 
 - 

(A) (B)  
(C)  (D) 

Q.18 
–2.0

 - 
(A) +50 cm  (B) –50 cm 
(C) 100 cm  (D) –100 cm 

Q.19 ( ) - 
(A) 
(B) 
(C) 
(D) 

Q.20 
, 

? 
(A) (B) 2F 
(C) F  2F (D) 2F 

Q.21 - 
(A) , 
(B) 
(C) , 
(D) 

 
Q.22 1.42 

1.42 
- 

(A) 
(B) 
(C) 
(D) 

 
Q.23 , 25 cm 

- 
(A) 4 (B) 25 



(C) 0.04 (D) 2.5 
 
Q.24  = 1.5 

( = 1.33) 
 - 

(A) (B) 
(C) (D) 

 
Q.25  - 

(A) 
(B) , 
(C) , 

(D) , 
 
Q.26 

, - 
(A) 
(B) 
(C) 
(D) (B)  (C) 

 
Q.27 , 

f , 
- 

(A) f (B) 2f (C) 3f (D) 4f 

ANSWER KEY 
EXERCISE-1 

29. 2 × 108 m/s 30. 3/4 31. 42º 32. 28º 33. 60º 34. + 2D
35. 7.2 cm 36. 10 cm 37. –5D 
38. 48 cm . 6 cm 
39. –8D 40. + 1D, 100 cm 41. 24 cm 42.  = 10° 

EXERCISE-2 
Ques 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans B D C D B C D B D D A A B B B
Ques 16 17 18 19 20 21 22 23 24 25 26 27
Ans C B B B A A C A A A D D




